Gronp = A
¢ | (Multhple Cholee Type Queatinnn)
4. Choose the correct altatnativoes for any ten of the following:
: ) A consumer good is rationed if the price at which it b sold s
Va) greater than tho market equilibtivm price D) lony
¢) equal 1o tho market equilibrium price d) none of thesy

fHian the matkel aguilibnam pirice

i) If tha quantity demanded of good X givon by ¢), LK g, Y the price of goud X, thon the
B

X
marginal revenue curve Is
¥ a) downward sloping
b) indeterminato
¢) flat (horizontal) and llog nbove tho hotizontal axis
d) coincides with tho horizontal uxis,

ol Is downward slopplng and linoar,

jiij Suppose thal the domand curve facod by a monopoli
sitivo. Than ite profit maximizing

so further that it has no variablo cost and I fixed cost s po

Suppos
price (provided profit Is positive) is at the point on its domand curve whorg
b) olasticity of demand s positive

a) elasticity of demand is zero
c) elasticity of demand is less than ono v'd) olasticity of domand ig one

iv) Al the profit maximizing output level of a monopolist, tho marginal cost curve has to ba upward

rising.
v'a) True b) False ¢) Not nocessarily true d) Usually falzo

a firm that is a prico taker in the input markets satislios

v) If the long run production function of
K,

constant returns to scale then the long ru
a) V-shaped b) upward rising

n average cost curve is
c) downward gloping v'd) horizontal

ce taker in the input market uses a single varlable input L 1o

vi) A competitive firm that is a pri
hat the production function of the firm is given by

produce a single good Q. Suppose t
Q=1I
Then the marginal cost curve of the firm is

v'a) downward slopping b) upward rising ¢} horizontal d) does not exist
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- Vi) Two firms produce a homdgeneous product. Their cost per unit of oulpul |s ax(), T“‘-’f"ﬁmnn,,
curve for the product is given by \- :
Q=A-bP,A>a,b>0 |

where Q is the quantity demanded and P is the price of the product. Suppose that thg firmg firg
engaged in' Cournot competition. If the two firms merge and form a single firm, then the naw firnyg
profit will be _

v a)‘higher than the total profit of the independent firms

b) lower than the total profit of the independent firms

C) équal to the total profit of the independent firms

d) cannot say

viii) A man runs a small transpbrt business. He owns the trucks and the garage where they arg

kept. Another man offers to take over his business and pay Rs. 4,00,000 per annum for usg of the

garage and the trucks. This is the best such offer available to the owner of the business, Noy tha
owner calculates that after paying for all the inputs, he has Rs. 4,00,000 left each year. Then

' a) his profit per year is Rs. 4,00,000

b) his rent per year is zero

vc) his profit per year is zero

d) his rent is Rs. 2,00,000 and profit is Rs. 2,00,000 per year.

ix) In a price leadership model of oligopoly, the market price is
v'a) lower than the monopoly price b) higher than the monopoly price
c) equal to the monopoly price d) none of these

x)'A monopolist does not have a supply curve for its product because

a) it is a price taker in the output market v'b) it can select both its output and its price
c) the price is always fixed by the government  d) none of these

xi) The essential differefice between a competitive market and a monopolistic market is that
a) there are more firms in a competitive market

v'b) the good is homogeneous in a competitive market

c) there are more firms in a monopolistic market
_d) none of these

Xii) In Ricardian theory, rent will arise only for
v'a) land b) land and labour c) capital d) none of these
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~ See Topic: MARKET, Long Answer Type Question No. 8.

. :4._\-__\_-'_-,'_:——— e ;

Group-B

: (Short Answer Type Questions)
T firm's production function is given by Q=Min|L K]
where Qis the quantity of output and K and L are the quantities of the variable inputs.
p) show that the isoquants are L-shaped |
p) show that given any pair of input P.P.PriC® o> P >0, «>P. >0, the marginal cost of
pmducllﬂﬂ remains constant for all output levels.
see Topic: PRODUCTION, Short Answer Type Question No. 8.
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9. Explain using a diagram why the LRAC does not touch the minimum points of the SRAC’s ifitis
U shaped, except at a minimum point. ‘

See Topic: COST, Short Answer Type Question No. 5.

4. Explain why the demand curve for an inferior good does not have to be upward rising.
See Topic: DEMAND, Short Answer Type Question No. 6.

5. Explain briefly why small changes in input prices do not affect the price in a kinked demand
curve model.

See Topic: MARKET, Short Answer Type Question No. 7.

6. Show that a monopoly whose demand curve is given by rectangular hyperbola and has only.
fixed costs of production can choose any output level to maximize profits.
See Topic: MARKET, Short Answer Type Question No. 8.

e T L

Group-C
(Long Answer Type Questions) ik
7. Distinguish between the short and long run in a competitive market. Explain carefully why in the E
long run all firms earn zero profits. AT
See Topic: MARKET, Long Answer Type Question No. 7.

8. A monopoly sells its product in two markets, market-1 and market-2. The (inverse) demand
functions in the two markets are given by.

R, =1000-Q,
P, =1000-20,
where B, j= 1, 2 is the price in market i; @, 7= 1, 2 is the quantity in market i.

Find
i) the prices and quantities sold in the two markets

ii) the profit in each market, if the total cost function is given by
TC(Q)=50,000+1 00Q
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8. Explain carefuily why a monopolist can have a profit maximizing output even it its marginal ot
curvg is downward sloping. Why is this not frua for competitive firm? Make sure that you explain the
inuitive argument that lios below this.

Sev Topie: MARKET, Long Ancwer Type Quoestion No. 9.

10. What do you mean by aconomic rent? Differontiate batwesn the Ricardian theory of tent ang
the modemn theory of reni.

1" Part: Sée Topic: RENT. Short Answer Type Question No. L

2™ Part: See Topic: RENT. Short Answer Type Question No. 3.

Bee Topic: RENT, Long Avswer Type Ouestion No. 3,

1. Write short notes on any three on the following:

a}) Law.of variabls proportion

Ix) Salling cost

¢} Basic problems of an economy

d) Income elasticily
:ﬁ Ser Topic: PRODUCTION, Long Answer Type Question No. (¢,
b1 See Topic: MARKET, Long Answer Type Question No. 1Hcel,
¢} See Topic: BASIC CONCEFPTS, Long Answer Type Question No. 2.
d1 See Tapic: DEMAND, Short Anvwer Type Question No. 1{or).
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